FOM 12 Polynomial & Sinusoidal Functions


Unit Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Determine the degree of this polynomial function:
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	A.
	0

	B.
	1

	C.
	2

	D.
	3


____
2.
Determine the degree of this polynomial function:

f(x) = x2(x – 2x + 10)

	A.
	0

	B.
	1

	C.
	2

	D.
	3


____
3.
Determine the leading coefficient of this polynomial function:

f(x) = [image: image2.png]ECYREN]



 + 2x
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	B.
	2

	C.
	3

	D.
	4


____
4.
Determine the equation of this polynomial function:
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	A.
	f(x) = –x2 – 3x – 1

	B.
	g(x) = x2 – 2x + 1

	C.
	h(x) = –x3 – 2x2 + 1

	D.
	j(x) = x3 + 2x


____
5.
Use a ruler to help you estimate the y-intercept for a line that best approximates the data in the scatter plot.
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	A.
	–10

	B.
	10

	C.
	30

	D.
	50


____
6.
What kind of relationship might there be between the independent and dependent variables in this scatter plot?
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	A.
	linear 

	B.
	quadratic 

	C.
	cubic 

	D.
	none of the above


____
7.
Determine the midline of the following graph.
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	A.
	y = 2

	B.
	y = 3

	C.
	y = 4

	D.
	y = 5


____
8.
Determine the amplitude of the following graph.
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	A.
	2

	B.
	3

	C.
	4

	D.
	5


____
9.
A sinusoidal graph has a maximum at the point (5, 12) and a minimum at the point (12, 5). Determine the midline of the graph.

	A.
	y = 0

	B.
	y = 5

	C.
	y = 12

	D.
	y = 8.5


____
10.
Determine the amplitude of the following function.

y = 0.5 sin (x – 2)

	A.
	0.5

	B.
	1

	C.
	2

	D.
	0


____
11.
Determine the midline of the following function.

y = 0.5 sin (x – 2)

	A.
	y = –2

	B.
	y = 0.5

	C.
	y = 0

	D.
	y = 2


Short Answer
1. Sketch a graph of a polynomial function that satisfies the set of characteristics. 



Explain your reasoning:

One turning point, a maximum value, y-intercept of 3
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2. Determine the period of the following graph.

[image: image12.png]Determine the amplitude, period, horizontal phase shift, and the vertical displacement for
each function.
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[image: image14.png]a) Find the equation of a sine function that has a vertical displacement 3 units up,
a horizontal phase shift of 60° to the left, a period of 210° and an amplitude of 4.

b) Find the equation of a cosine function that has a vertical displacement 5 units down,
2

a horizontal phase shift of 3 radians to the right, a period of % and an

amplitude of 3.
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3. A table fan has a mark on the tip of one blade. 


    
   0
	The equation y = 23 sin (4πx) + 38 represents the height of the mark, y centimeters, above the table x seconds after the fan is turned on. What is the height of the mark above the table when it is closest to the table?


4. Kira is sitting in an inner tube in the wave pool. The depth of the water below her, in terms of time, during a series of waves can be represented by the graph shown.

a) What is the depth of the water below Kira when no waves are being generated? Explain how you know.
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b) How high is each wave? Show your work.
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Answer Section

1.
ANS:
D
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.1


2.
ANS:
D
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.2


3.
ANS:
B
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.2


4.
ANS:
B
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.2


5.
ANS:
C
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.3


6.
ANS:
B
PTS:
1
DIF:
Grade 12
REF:
Lesson 6.4


7.
ANS:
A
PTS:
1
DIF:
Grade 12
REF:
Lesson 8.3


8.
ANS:
A
PTS:
1
DIF:
Grade 12
REF:
Lesson 8.3


9.
ANS:
D
PTS:
1
DIF:
Grade 12
REF:
Lesson 8.3


10.
ANS:
A
PTS:
1
DIF:
Grade 12
REF:
Lesson 8.4


11.
ANS:
C
PTS:
1
DIF:
Grade 12
REF:
Lesson 8.4

SHORT ANSWER

2.
ANS:


6

3.
ANS:




y = 3 cos8/5(x - 5π/4) - 5

4.
ANS:


a) A = 1, P = 2 π, π/4 units right, 3 units up
b) A = 3, P = π, π/2 units right
c) A = 3, P = π, π units right


5. ANS:



y = 4 sin(x – π/3)

6. ANS:



15 cm

7.
ANS:


a) The depth of the water would be 2.0 m.

b) The height of a wave is the amplitude.

The height of each wave is 0.8 m.
